

Note: In addition to these tuition rates, all applicants are charged a \$50.00 application fee and \$100.00 for books and supplies. Tuition rates effective beginning 01/01/2026.

Program	Program Length	Tuition
Automotive Service Technician (Day)	30 hrs. / 30 wks. (900 hours)*	\$17,850
Automotive Service Technician (Evening)	12 hrs. / 75 wks. (900 hours)*	\$17,850
Building & Property Trades Technician	30 hrs. / 30 wks. (900 hours)*	\$17,850
Computer Service Technician / Network Installer	30 hrs. / 30 wks. (900 hours)*	\$17,850
HVAC/R (Day)	30 hrs. / 30 wks. (900 hours)*	\$20,150
HVAC/R (Evening)	12 hrs. / 75 wks. (900 hours)*	\$20,150
Medical Assistant (Day)	30 hrs. / 30 wks. (900 hours)*	\$17,350
Medical Assistant (Evening)	12 hrs. / 75 wks. (900 hours)*	\$17,350
Motorcycle/Power Equipment Technician	30 hrs. / 30 wks. (918 hours)*	\$18,350
Residential and Commercial Electrician (Day)	30 hrs. / 30 wks. (900 hours)*	\$23,150
Residential and Commercial Electrician (Evenings)	12 hrs. / 75 wks. (900 hours)*	\$23,150

*The total training hours may include snow days that fall within the program.

See below for Cost of Attendance estimates for each program
(Tuition & fees + estimated cost of living expenses)

	Dependent (with Parents) Day Program	Independent (off campus) Day Program	Dependent (with Parents) Evening Program	Independent (off campus) Evening Program
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$18,000	\$18,000	\$18,000	\$18,000
Room & Board*	\$1,614 /month	\$2,254 /month	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50	\$58,987.50	\$104,606.25
Total Estimated Cost of Attendance (<i>Tuition & Fees + Estimated Indirect Costs of Living</i>)	\$41,595	\$59,842.50	\$76,987.50	\$122,606.25

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Day Program: 30 weeks / 7.5 months

Evening Program: 75 weeks / 18.75 months



Cost of Attendance Estimate Building & Property Trades Technician

	Dependent (with Parents)	Independent (off campus)
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$18,000	\$18,000
Room & Board*	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50
Total Estimated Cost of Attendance (Tuition & Fees + Estimated Indirect Costs of Living)	\$41,595	\$59,842.50

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Program Length: 30 weeks / 7.5 months



Cost of Attendance Estimate
Computer Service Technician / Network Installer

	Dependent (with Parents)	Independent (off campus)
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$18,000	\$18,000
Room & Board*	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50
Total Estimated Cost of Attendance (<i>Tuition & Fees + Estimated Indirect Costs of Living</i>)	\$41,595	\$59,842.50

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Program Length: 30 weeks / 7.5 months

	Dependent (with Parents) Day Program	Independent (off campus) Day Program	Dependent (with Parents) Evening Program	Independent (off campus) Evening Program
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$20,300	\$20,300	\$20,300	\$20,300
Room & Board*	\$1,614 /month	\$2,254 /month	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50	\$58,987.50	\$104,606.25
Total Estimated Cost of Attendance (Tuition & Fees + Estimated Indirect Costs of Living)	\$43,895	\$62,142.50	\$79,287.50	\$124,906.25

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Day Program: 30 weeks / 7.5 months

Evening Program: 75 weeks / 18.75 months

	Dependent (with Parents) Day Program	Independent (off campus) Day Program	Dependent (with Parents) Evening Program	Independent (off campus) Evening Program
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$17,500	\$17,500	\$17,500	\$17,500
Room & Board*	\$1,614 /month	\$2,254 /month	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50	\$58,987.50	\$104,606.25
Total Estimated Cost of Attendance (<i>Tuition & Fees + Estimated Indirect Costs of Living</i>)	\$41,095	\$59,342.50	\$76,487.50	\$122,106.25

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Day Program: 30 weeks / 7.5 months

Evening Program: 75 weeks / 18.75 months



Cost of Attendance Estimate Motorcycle & Power Equipment Technician

	Dependent (with Parents)	Independent (off campus)
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$18,500	\$18,500
Room & Board*	\$1,614 /month	\$2,254 /month
Personal Expenses*	\$543 /month	\$2,061 /month
Transportation*	\$989 /month	\$1,264 /month
Total Monthly Indirect Costs*	\$3,146 /month	\$5,579 /month
Total Program Indirect Costs*	\$23,595	\$41,842.50
Total Estimated Cost of Attendance (Tuition & Fees + Estimated Indirect Costs of Living)	\$42,095	\$60,342.50

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Program Length: 30 weeks / 7.5 months

	Dependent (with Parents) Day Program	Independent (off campus) Day Program	Dependent (with Parents) Evening Program	Independent (off campus) Evening Program
Tuition & Fees (includes \$100 Books/Supplies and \$50 Application Fee)	\$23,300	\$23,300	\$23,300	\$23,300
Room & Board*	\$1,642 /month	\$2,218 /month	\$1,642 /month	\$2,218 /month
Personal Expenses*	\$552 /month	\$1,929 /month	\$552 /month	\$1,929 /month
Transportation*	\$904 /month	\$1,161 /month	\$904 /month	\$1,161 /month
Total Monthly Indirect Costs*	\$3,098 /month	\$5,308 /month	\$3,098 /month	\$5,308 /month
Total Program Indirect Costs*	\$24,785	\$41,360	\$58,087.50	\$99,525
Total Estimated Cost of Attendance (<i>Tuition & Fees + Estimated Indirect Costs of Living</i>)	\$46,535	\$63,110	\$81,387.50	\$122,825

*These indirect costs are an **estimate** of what you may be required to spend on personal and living expenses while enrolled in the program.

Day Program: 30 weeks / 7.5 months

Evening Program: 75 weeks / 18.75 months